Practice 3-8 Slopes of Parallel & Perpendicular Lines
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In Exercises 1 and 2, are lines m1 and m2 parallel? Explain.
1.
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1.                                                                             2.
Write an equation of the line parallel to [image: image20.png]760125 150



that contains point C.
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In Exercises 7 and 8, are lines m1 and m2 perpendicular? Explain.
7.                                                                            8.                                                                  

Write an equation of the line perpendicular to the given line that contains P.
9. P((6, 5); y = 2x ( 3
10. P(4, 3); y = (3x ( 15
11. P((6, (3); y = x( 1
12. P(5, 5); y = 
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13. The line that represents the right boundary of a street is shown on the grid at the right.
a. What is the equation of the left boundary, which is parallel to the right boundary, and passes through point L(200, 100)?
b. Graph the left boundary.
Rewrite each equation in slope intercept form. Then determine whether the lines are parallel. Explain.
14. 2y = x + 15
15. 10y + 130 = 50x
16. 2y = 15 + 4x
x = 2y + 5
(5y = 2x + 11
6y ( 30 = 12x
Rewrite each equation in slope-intercept form. Then determine whether the lines are perpendicular. Explain.
17. y ( 1 = (x (6
18. 
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2y = 8x + 18
5y = 2x + 6
20. A community recently converted an old railroad corridor into a recreational trial.  The graph at right shows a map of the trail on a coordinate grid.  They plan to construct a path to connect the trail to a parking lot.  The new path will be perpendicular to the recreational trail. 
a. Write an equation of the line representing the new path.
b. What are the coordinates of the point at which the path will meet the recreational trail?
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